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SECTION A: Conflict in the Middle East, 1945-95
Answer ALL Questions in this section.

1 Explain two consequences of the territorial changes following the 1948-49
Arab-Israeli war.

Consequence 1:
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(Total for Question 1 = 8 marks)
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2 Write a narrative account analysing Egypt’s relations with Israel in the years 1973-77.

4 N
You may use the following in your answer:

- Yom Kippur War (1973)
. President Sadat

You must also use information of your own.
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(Total for Question 2 = 8 marks)
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3 Explain two of the following:

AR
AR

« The importance of Nasser for leadership of the Arab world.

L

ot

(8)

« The importance of the occupied territories for Arab-Israeli relations after the
Six Day War (1967).

IION

(8)

« The importance of the end of the Cold War for attempts to find a solution in the ';
Middle East. ST
(8) 2
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(Total for Question 3 = 16 marks)
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4 )
Indicate your FIRST choice on this page.
Indicate which question you are answering by marking a cross in the box X. If you change your
mind, put a line through the box £< and then indicate your new question with a cross [X.
[J The importance of Nasser for leadership of the Arab world.
[J The importance of the occupied territories for Arab-Israeli relations after the
Six Day War (1967).
[J The importance of the end of the Cold War for attempts to find a solution in the
Middle East.
B )
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4 )
Indicate your SECOND choice on this page.
Indicate which question you are answering by marking a cross in the box X. If you change your
mind, put a line through the box £< and then indicate your new question with a cross [X.
[J The importance of Nasser for leadership of the Arab world.
[J The importance of the occupied territories for Arab-Israeli relations after the
Six Day War (1967).
[J The importance of the end of the Cold War for attempts to find a solution in the
Middle East.
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(Total for Question 3 = 16 marks)

TOTAL FOR SECTION A =32 MARKS

10

p 5 7 3 7 5 A 0 1 0 3 2

RSN

RS
SR

o
55

i
- j‘i’

o
VS

<SG
OO
Ry
e

S

s
-

BB

=
Ao
- ™. . N 3

NG

P T e
orststtetetatl
CRON
Feb i LO)
SO

%
<2
A



,

BB

o

A A A AT
A

D
£y

ettt ety o 5 : X ’:0. ,'
T DO NOT WRITE INTHIS AREL QERELES D¢ f{f“ WRIT {'k‘

>

ARER

LIS A

]

b

1 o

E)
2

08 5%

N

g

N

o

S Do N

NS

SR
SRS

o
X

G,
o

b

SECTION B: Tudor depth options
Answer EITHER Question 4 OR Question 5.
EITHER
Option B3: Henry VIIl and his ministers, 1509-40
Question 4 Page 13
OR
Option B4: Early Elizabethan England, 1558-88

Question 5 Page 23

. J

R 0D Y D0 O 0 )
Turn over »
P 5 7 3 7 5 A 01 1 3 2 urnove




BLANK PAGE

12

p 5 7 3 7 5 A 0 1 2 3 2

KRR

ELs
BRRRR

Sos s

L

e

K

KO
'y : &
Y S

o,
,Et

-

S
’%

RSB

L

2
I
e

oo
1‘,‘*5’5‘

<
s
o
¥
&

t‘*"y g

3]
by

2 8

\ ife-



,

SRR

R

-ARE.

5

N

5

2 SETERIL o e Sy S 2 o s e e
i@ ,.f\.»,!g:", gy 1 HIS - AREA LRI [ f“ ,3 § | N-THES
ety DONOTWRITEINTHIS AREA 005 - DO NOT WRITE IN-THI

-

35

A

E

b

o

3

i

28

is

NTH

]

e

LE

LWRE

%
2

A

N
&)

000 poNoT

NS

s
%

(052
S

o
X

o
S

o
<

[ Option B3: Henry VIIl and his ministers, 1509-40 ]

If you answer Question 4 put a cross in the box [ .
Answer/ Question 4(a), Question 4(b) and EITHER Question 4(c)(i) OR Question 4(c)(ii).

4 (a) Describe two features of the Eltham Ordinances.
(4)

Feature 1

. J
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(b) Explain why the Pilgrimage of Grace took place.
(12)

4 )
You may use the following in your answer:

- inspection of the monasteries
- enclosure

You must also use information of your own.
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( )
Answer EITHER Question 4(c)(i) OR Question 4(c)(ii).
EITHER
(c) (i) ‘The main reason for Wolsey’s rise to power was that he was a good organiser!
How far do you agree? Explain your answer.
(16)
( )
You may use the following in your answer:
- expedition to France
- Royal Almoner
You must also use information of your own.
_J
OR
(c) (ii) ‘The reform of the Privy Council was the most important change to
government made by Cromwell!
How far do you agree? Explain your answer.
(16)
( )
You may use the following in your answer:
«  Privy Council membership
- The Council of the North
\You must also use information of your own.
_J
. J
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Indicate which question you are answering by marking a cross in the box X. If you change your
mind, put a line through the box £< and then indicate your new question with a cross [X.

Chosen question number: Question 4(c)(i) [] Question 4(c)(ii) []
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(Total for Question 4 = 32 marks)
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[ Option B4: Early Elizabethan England, 1558-88 ]

If you answer Question 5 put a cross in the box [] .
Answer Question 5(a), Question 5(b) and EITHER Question 5(c)(i) OR Question 5(c)(ii).

5 (a) Describe two features of Elizabeth’s religious settlement (1559).
(4)

Feature 1

. J
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(b) Explain why there was an increase in exploration in the years 1558-88.
(12)

4 )
You may use the following in your answer:

- navigational aids
« luxury goods

You must also use information of your own.
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Answer EITHER Question 5 (c)(i) OR Question 5 (c)(ii).
EITHER

over the Spanish Armada!

How far do you agree? Explain your answer.

(c) (i) ‘The effective use of naval tactics was the main reason for the English victory

(16)

-
You may use the following in your answer:

. fire ships
«  bad weather

You must also use information of your own.
-

OR

How far do you agree? Explain your answer.

(c) (ii) ‘There was little change in attitudes towards the poor in the years 1558-88!

(16)

-
You may use the following in your answer:

- Houses of Correction
- the deserving poor

You must also use information of your own.
\
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Indicate which question you are answering by marking a cross in the box X. If you change your
mind, put a line through the box £< and then indicate your new question with a cross [X.

Chosen question number:  Question 5(c)(i) [] Question 5(c)(ii) [
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(Total for Question 5 = 32 marks)

TOTAL FOR SECTION B =32 MARKS
TOTAL FOR PAPER = 64 MARKS
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